7 Appendix: Proofs

Proof of Lemma 1.

Proof. Define

$$f_i(w_i) = \frac{du_i}{dw_i} = -T_i \psi'(T_i(1-w_i))\phi(S_{-i}) + \alpha_i q_i T_i \sum_{j \neq i} \frac{S_{-ij}}{(S_{-ij} + q_i T_i w_i)^2} T_j r_j$$

It's easy to see that $\frac{df_i(w_i)}{dw_i} < 0$. We need to examine the incentive constraints of the three groups in equilibrium.

1) content consumers: I_c

For user $i \in I_c$, the necessary and sufficient condition for her to choose $w_i = 0$ is

$$f_i(0) = -T_i \psi'(T_i) \phi(S_{-i}) + \alpha_i q_i T_i \sum_{j \neq i} \frac{T_j r_j}{S_{-ij}} \le 0$$
(15)

Since $\frac{r_j}{S_{-ij}} = 0$ if $j \in I_p$ and $\frac{r_j}{S_{-ij}} = \frac{1}{S_{-i}}$ if $j \in I_c$, $\sum_{j \neq i} \frac{T_j r_j}{S_{-ij}} = \frac{1}{S_{-i}} \sum_{j \in I_C, j \neq i} T_j + \sum_{j \in I_m, j \neq i} \frac{T_j r_j}{S_{-ij}}$. Inequality 15 becomes to

$$\alpha_{i}q_{i} \leq \frac{S_{-i}}{T_{-i}^{C} + S_{-i}\sum_{j \in I_{m}, j \neq i} \frac{T_{j}r_{j}}{S_{-ij}}}\psi'(T_{i})\phi(S_{-i}) = h_{C}(i)$$

2) content producers: I_p

For user $i \in I_p$, the necessary and sufficient condition for him to choose $w_i = 1$ is

$$f_i(1) = -T_i \psi'(0) \phi(S_{-i}) + \alpha_i q_i T_i \sum_{j \neq i} \frac{S_{-ij}}{(S_{-ij} + q_i T_i)^2} T_j r_j \ge 0$$
(16)

$$\sum_{j \neq i} \frac{S_{-ij}}{(S_{-ij} + q_i T_i)^2} T_j r_j = \sum_{j \in I_C, j \neq i} \frac{S_{-ij}}{(S_{-ij} + q_i T_i)^2} T_j + \sum_{j \in I_M, j \neq i} \frac{S_{-ij}}{(S_{-ij} + q_i T_i)^2} T_j r_j$$
$$= \frac{S_{-i}}{(S_{-i} + q_i T_i)^2} \sum_{j \in I_C, j \neq i} T_j + \sum_{j \in I_M, j \neq i} \frac{S_{-ij}}{(S_{-ij} + q_i T_i)^2} T_j r_j$$
$$= \frac{S_{-i}}{(S_{-i} + q_i T_i)^2} T_{-i}^C + \sum_{j \in I_M, j \neq i} \frac{S_{-ij}}{(S_{-ij} + q_i T_i)^2} T_j r_j$$

Inequality 16 becomes

$$\alpha_i q_i \ge \frac{(S_{-i} + q_i T_i)^2}{S_{-i} T_{-i}^C + (S_{-i} + q_i T_i)^2 \sum_{j \in I_M, j \neq i} \frac{S_{-ij}}{(S_{-ij} + q_i T_i)^2} T_j r_j} \psi'(0) \phi(S_{-i}) = h_P(i)$$

Apparently, user with $h_C(i) < \alpha_i q_i < h_P(i)$ will choose $0 < w_i < 1$.

Proof of Lemma 2.

Proof. (1)

If $n_M/n \to 0$ as $n \to \infty$, then we immediately have $n_M \to \infty$ as $n \to \infty$. Pick $1 > \delta > 0$, $\underline{w} > 0$ such that $\forall n$, at least $n_M \delta$ of those $i \in I_M$ choose $w_i > \underline{w}$.⁸.

$$S_{-i} = \sum_{j \neq i} q_j T_j w_j \ge \sum_{j \in I_M, j \neq i} q_j T_j w_j \ge (n_M \delta - 1) \underline{q} \underline{w} \underline{T}$$
$$\frac{T_{-i}^C}{S_{-i}^\beta} < \frac{\overline{T} n}{\underline{q}^\beta \underline{w}^\beta \underline{T}^\beta (n_M \delta - 1)^\beta} \to 0 \text{ as } n \to 0$$

If $n_M/n \to 0$ as $n \to \infty$, then we must have $T_{-i}^C \to \infty$ and $S_{-i} \to \infty$ since otherwise either $h_C(i) \to \infty$ or $h_P(i) \to 0$ both of which can't be true in equilibrium. Furthermore, $\frac{T_{-i}^C}{S_{-i}} \to \infty$ as $n \to \infty$ since otherwise $h_P(i) \to 0$ too. Therefore, $\lim_{n\to\infty} \frac{T_{-i}^C}{S_{-i}^\beta} = 0, \forall \beta > 1.$

(2)

If $n_M/n \not\rightarrow 0$, then

$$\sum_{j \in I_M, j \neq i} \frac{T_j r_j}{S_{-ij}^{\beta}} < \frac{n_M \overline{T}}{(n_M \delta - 2)^{\beta} \underline{w}^{\beta} \underline{q}^{\beta} \underline{T}^{\beta}} \to 0 \text{ as } n \to 0$$

where δ, \underline{w} are defined in the first part of the proof.

If $n_M/n \to 0$, then $n_C/n \to 0$ since otherwise $\frac{T_{-i}^C}{S_{-i}} \to 0$, $h_C(i) \to \infty$ which can not be true in equilibrium. So we must have $\sum_{j \in I_M, j \neq i} T_j r_j < T_{-i}^C$. Now

$$\sum_{j \in I_M, j \neq i} \frac{T_j r_j}{S_{-ij}^{\beta}} < \frac{S_{-i}^{\beta}}{(S_{-i} - \overline{q}\overline{T})^{\beta}} \frac{T_{-i}^C}{S_{-i}^{\beta}} \to 0 \text{ as } n \to 0$$

Proof of Proposition 1.

Proof. We will prove the proposition in four steps. Throughout the proof, we will constantly use the boundedness of $\phi(\cdot)$ but we won't refer to it each time.

1) First we will show

$$\lim_{n \to \infty} \frac{h_C(i)}{h_P(i)} = \frac{\psi'(T_i)}{\psi'(0)}$$

Define $h(i) = h_C(i)/h_P(i)$, which could be written as

$$h(i) = \frac{\frac{S_{-i}T_{-i}^{C}}{(S_{-i}+q_{i}T_{i})^{2}} + \sum_{j \in I_{M}, j \neq i} \frac{S_{-ij}}{(S_{-ij}+q_{i}T_{i})^{2}} T_{j}r_{j}}{\frac{T_{-i}^{C}}{S_{-i}} + \sum_{j \in I_{M}, j \neq i} \frac{T_{j}r_{j}}{S_{-ij}}} \frac{\psi'(T_{i})}{\psi'(0)}$$

⁸Technically, it is possible that such $(\overline{\delta}, \underline{w})$ does not exist. In such case, $\frac{n_M}{n} \neq 0$, but $w_i \to 0, \forall i \in I_M$. We don't discuss this pathological limit equilibrium in the current paper.

$$\begin{split} \frac{T_{-i}^{C}}{S_{-i}} &- \frac{S_{-i}T_{-i}^{C}}{(S_{-i} + q_{i}T_{i})^{2}} = T_{-i}^{C}\frac{2S_{-i} + q_{i}T_{i}}{S_{-i}(S_{-i} + q_{i}T_{i})^{2}}q_{i}T_{i} < 2q_{i}T_{i}\frac{T_{-i}^{C}}{S_{-i}^{2}} \to 0 \text{ as } n \to 0 \\ \sum_{j \in I_{M}, j \neq i} \frac{T_{j}r_{j}}{S_{-ij}} &- \sum_{j \in I_{M}, j \neq i} \frac{S_{-ij}}{(S_{-i} + q_{i}T_{i})^{2}}T_{j}r_{j} = \sum_{j \in I_{M}, j \neq i} T_{j}r_{j}\frac{q_{i}T_{i}(2S_{-ij} + q_{i}T_{i})}{S_{-ij}(S_{-ij} + q_{i}T_{i})^{2}} \\ &< 2q_{i}T_{i}\sum_{j \in I_{M}, j \neq i} \frac{T_{j}r_{j}}{S_{-ij}^{2}} \to 0 \text{ as } n \to \infty \end{split}$$

Since $h_C(i) \to \infty$ in equilibrium and $\phi(\cdot)$ is bounded, $\frac{T_{-i}^C}{S_{-i}} + \sum_{j \in I_M, j \neq i} \frac{T_j r_j}{S_{-ij}} \to 0$ as $n \to \infty$. So $\lim_{n\to\infty} h(i) = \frac{\psi'(T_i)}{\psi'(0)}$. 2) Second, we will show

$$\lim_{n \to \infty} \frac{h_C(i)}{h_C(k)} = \frac{\psi'(T_i)}{\psi'(T_k)}, \forall i, k$$

$$\left|\sum_{j\in I_m, j\neq i} \frac{T_j r_j}{S_{-ij}} - \sum_{j\in I_m, j\neq k} \frac{T_j r_j}{S_{-kj}}\right| = \sum_{j\in I_M, j\neq i, k} \left|\frac{q_k T_k w_k - q_i T_i w_i}{S_{-ij} S_{-kj}}\right| T_j r_j + \frac{T_k r_k - T_i r_i}{S_{-ik}}$$
$$\leq \left|q_k T_k w_k - q_i T_i w_i\right| \sum_{j\in I_M, j\neq i} \frac{T_j r_j}{S_{-ij}^2} + \frac{T_k r_k - T_i r_i}{S_{-ik}}$$
$$\to 0 \text{ as } n \to \infty$$
(17)

Since $h_C(i) \nleftrightarrow \infty$, $\frac{T_{-i}^C}{S_{-i}} + \sum_{j \in I_m, j \neq i} \frac{T_j r_j}{S_{-ij}} \nleftrightarrow 0$, hence

$$\frac{h_C(i)}{h_C(k)} = \frac{\frac{T_{-k}^C}{S_{-k}} + \sum_{j \in I_m, j \neq k} \frac{T_j r_j}{S_{-kj}}}{\frac{T_{-i}^C}{S_{-i}} + \sum_{j \in I_m, j \neq i} \frac{T_j r_j}{S_{-ij}}} \frac{\psi'(T_i)\phi(S_{-i})}{\psi'(T_k)\phi(S_{-k})} \to \frac{\psi'(T_i)}{\psi'(T_k)}$$

3) From 1) and 2), we immediately have

$$\lim_{n \to \infty} \frac{h_P(i)}{h_P(k)} = \frac{h_C(i)}{h_C(k)} \frac{h_C(k)/h_P(k)}{h_C(i)/h_P(i)} = \frac{\psi'(T_i)}{\psi'(T_k)} \frac{\psi'(T_k)/\psi'(0)}{\psi'(T_i)/\psi'(0)} = 1, \forall i, k \in \mathbb{N}$$

Since $h_P(k) \to 0, \forall k, h_P(i) - h_P(k) \to 0, \forall i, k$. Denote $\lim_{n \to \infty} h_P(i) = h_P$, then $\lim_{n \to \infty} h_C(i) = \frac{\psi'(T_i)}{\psi'(0)} h_P$.

Proof of Corollary 1.

Proof. By Proposition (1), we only need to examine the case when w_i and w_k are the interior solutions of the first-order conditions of user i and user k's utility maximization problem. From the proof of Lemma (1), we have

$$\psi'(T_i(1-w_i))\phi(S_{-i}) = \alpha_i q_i \sum_{j \neq i} \frac{S_{-ij}}{(S_{-ij} + q_i T_i w_i)^2} T_j r_j$$

$$\psi'(T_k(1-w_k))\phi(S_{-k}) = \alpha_k q_k \sum_{j \neq k} \frac{S_{-kj}}{(S_{-kj} + q_k T_i w_k)^2} T_j r_j$$

$$\frac{\psi'(T_i(1-w_i))}{\psi'(T_k(1-w_k))} = \frac{\phi(S_{-k})}{\phi(S_{-i})} \frac{\alpha_i}{\alpha_k} \frac{\sum_{j \neq i} \frac{S_{-ij}q_i}{(S_{-ij} + q_i T_i w_i)^2} T_j r_j}{\sum_{j \neq k} \frac{S_{-kj}q_k}{(S_{-kj} + q_k T_i w_k)^2} T_j r_j}$$

(1) If $T_i = T_k, q_i = q_k, \alpha_i \ge \alpha_k$, then, using Lemma(2), one can easily show that

$$\lim_{n \to \infty} \frac{\sum_{j \neq i} \frac{S_{-ij}q_i}{(S_{-ij} + q_i T_i w_i)^2} T_j r_j}{\sum_{j \neq k} \frac{S_{-kj}q_k}{(S_{-kj} + q_k T_i w_k)^2} T_j r_j} = 1$$

Hence, $\lim_{n\to\infty} \frac{\psi'(T_i(1-w_i))}{\psi'(T_k(1-w_k))} = \frac{\alpha_i}{\alpha_k} \ge 1$, which implies that $w_i \ge w_k$ (2) If $T_i = T_k, \alpha_i = \alpha_k, q_i \ge q_k$, then using Lemma(2), one can easily show that

$$\lim_{n \to \infty} \frac{\sum_{j \neq i} \frac{S_{-ij}q_i}{(S_{-ij} + q_i T_i w_i)^2} T_j r_j}{\sum_{j \neq k} \frac{S_{-kj}q_k}{(S_{-kj} + q_k T_i w_k)^2} T_j r_j} = \frac{q_i}{q_k}$$

Hence, $\lim_{n\to\infty} \frac{\psi'(T_i(1-w_i))}{\psi'(T_k(1-w_k))} = \frac{q_i}{q_k} \ge 1$, which implies that $w_i \ge w_k$

Proof of Proposition 2.

Proof. The "if" part is obvious from Proposition 1 and is explained in the paper. The "only if" part could be similarly proved. Suppose $\lim_{n\to\infty} \frac{n_M}{n} = 0$, then

$$\lim_{n \to \infty} \sum_{j \in I_m} \frac{T_j r_j}{S_{-ij}} = 0, \quad \lim_{n \to \infty} \sum_{j \in I_M, j \neq i} \frac{S_{-ij}}{(S_{-ij} + q_i T_i)^2} T_j r_j = 0$$

since $S \to \infty$ as $n \to \infty$. Hence

$$\lim_{n \to \infty} h_C(i) = \frac{S}{T^C} \psi'(T_i) \lim_{n \to \infty} \phi(S), \quad \lim_{n \to \infty} h_P(i) = \frac{S}{T^C} \psi'(0) \lim_{n \to \infty} \phi(S)$$

With continuous distribution of (α, q, T) , if $\psi''(\cdot) < 0$, then there is a always positive proportion of user who have $h_C(i) < \alpha_i q_i < h_P(i)$ as $n \to \infty$ and those user choose $r_i > 0, w_i > 0$. Hence $\frac{n_M}{n} \neq 0$, contradiction.

Proof of Corollary 2.

Proof. In a partition equilibrium, the utility function simplifies to

$$u_i = \psi(T_i(1 - w_i))\phi(S_{-i}) + \alpha_i q_i T_i w_i \frac{T_C}{S}$$

Since $r_j = 0$ if $j \in I_C$ and $r_j = 0$ if $j \in I_P$.

If $i \in I_C$, then $w_i = 0$ and $S_{-i} = S$. So $u_i^C = \psi(T_i)\phi(S)$. If $i \in I_P$, then $w_i = 1$. So $u_i^P = \alpha_i q_i T_i \frac{T_C}{S}$.

From Proposition 1, we know in a partition equilibrium

$$\lim_{n \to \infty} h_C(i) = \lim_{n \to \infty} h_P(i) = \frac{S}{T^C} \psi'(0) \lim_{S \to \infty} \phi(S) = \frac{S}{T^C} = h$$

and $S = \sum_{\alpha_i q_i > h} q_i T_i, T^C = \sum_{\alpha_i q_i < h} T_i$, so, h is determined by

$$h = \frac{\sum_{\alpha_i q_i > h} q_i T_i}{\sum_{\alpha_i q_i < h} T_i} \tag{18}$$

which always has a solution in $(0, \overline{\alpha q})$.

Proof of Corollary 3.

Proof. The original threshold h is determined by

$$h = \frac{\sum_{\alpha_i q_i > h} q_i T_i}{\sum_{\alpha_i q_i < h} T_i} \tag{19}$$

Denote h' the threshold after the shift and \hat{h} the threshold that keeps the same group of people content consumers/producers, i.e., $\sum_{\alpha'_i q_i < \hat{h}} T_i = \sum_{\alpha_i q_i < h} T_i$ or $\sum_{\alpha_i q'_i < \hat{h}} T_i = \sum_{\alpha_i q_i < h} T_i$.

If the population shifts up in α , then

$$h' = \frac{\sum_{\alpha'_i q_i > h'} q_i T_i}{\sum_{\alpha'_i q_i < h'} T_i} \tag{20}$$

and

$$h = \frac{\sum_{\alpha'_i q_i > \hat{h}} q_i T_i}{\sum_{\alpha'_i q_i < \hat{h}} T_i}$$
(21)

We must have $h' \ge h$ since otherwise the RHS of (20) will be greater than (19) which leads to contradiction. From this, we must have h' < h since otherwise the RHS of (20) will be smaller than (21). which also leads to contradiction. This implies that more user will become content producers and that more content will be generated.

If the population shifts up in q, then similarly we would have $h' \ge h$. Now suppose S' = $\sum_{\alpha_i q_i > h'} < S = \sum_{\alpha_i q_i > h}, \text{ i.e., } h' \sum_{\alpha_i q_i < h'} T_i < h \sum_{\alpha_i q_i < h} T_i, \text{ then } \sum_{\alpha_i q_i' < h'} T_i < \sum_{\alpha_i q_i < h} T_i$ which implies h' < h, contradiction. Hence we must have S' > S, i.e., more content will be generated after the shift up of q. П

Proof of Proposition 3.

Proof. Suppose that user *i* chooses T_i in the first stage, and that in the second stage, the partition equilibrium is played. Denote user *i*'s utility by u_i^C if he is a content consumer and u_i^P if he is a content producer. From Corollary (2) and our assumption of quadratic cost function, we have

$$u_{i}^{C} = T_{i}\phi(S)\tau - \frac{1}{2\theta_{i}}T_{i}^{2}, \ u_{i}^{P} = \frac{T_{C}}{S}\alpha_{i}q_{i}T_{i} - \frac{1}{2\theta_{i}}T_{i}^{2}$$

where $S = \sum_{i \in I_P} q_i T_i$.

In the first stage, each user chooses T_i to maximize utility. We have

$$\begin{cases} T_i^C = \phi(S)\tau\theta_i, & i \in I_C \\ T_i^P = \frac{\sum_{j \in I_C} T_j}{S}\alpha_i q_i \theta_i, & i \in I_P \end{cases}$$
(22)

Summing up over $i \in I_C$ for the first equation, we get $T^C = \sum_{i \in I_P} \phi(S) \tau \theta_i$. Multiplying by q_i on both sides of the second equation, and summing up over $i \in I_P$, we get $S = \sum_{i \in I_C} \frac{T^C}{S} \alpha_i q_i^2 \theta_i$. By Proposition (1), $i \in I_C$ if $\alpha_i q_i < \frac{S}{T^C}$ and $i \in I_P$ if $\alpha_i q_i > \frac{S}{T^C}$. So (S, T_C) is the solution to Equation (6).

Proof of Lemma 3.

Proof. Denote $f(S) = \beta \phi(S) - \phi'(S)S$, $f'(S) = \beta \phi'(S) - \phi'(S) - S\phi''(S) = (\beta - 1)\phi'(S) - S\phi''(S) > 0, \forall S > 0, \beta \ge 1$. f(0) = 0, Hence $f(S) > 0, \forall S > 0$

Proof of Proposition 4.

Proof. From the proof of Proposition (3) we know

$$\begin{cases} T^C = \sum_{i \in I_P} \phi(S) \tau \theta_i \\ S = \sum_{i \in I_C} \frac{T^C}{S} \alpha_i q_i^2 \theta_i \end{cases}$$
(23)

Denote

$$\begin{cases} k_1 = \sum_{i \in I_C} \theta_i \\ k_2 = \sqrt{\sum_{j \in I_P} \alpha_i q_i^2 \theta_i} \end{cases}$$

Then we obtain Equations(8) which characterizes the content consumption and production at the macro-level. From Equations(8), we have $S^{*2} = k_1 k_2 \phi(S^*)$. Obviously, $(S^*, T^{C^*}) = (0, 0)$ is always a solution. But there is at least one solution $(S^*, T^{C^*}) \neq (0, 0)$ since $\phi'(0) > 0$.

The proof of asymptotic stability of this equilibrium point is a simple application of Liapunov's indirect method.

$$\mathbf{G} = \begin{pmatrix} \frac{\partial g_1}{\partial T^C} & \frac{\partial g_1}{\partial S} \\ \frac{\partial g_1}{\partial T^C} & \frac{\partial g_1}{\partial S} \end{pmatrix} = \begin{pmatrix} 0 & k_1 \phi'(S) \\ \frac{k_2}{2\sqrt{T^C}} & 0 \end{pmatrix}$$
(24)

The eigenvalues of **G** satisfy $|\lambda|^2 = \frac{k_1 k_2 \phi'(S) \tau}{2\sqrt{T^C}}$. We need to check whether or not $|\lambda| < 1$ at the equilibrium point (T^{C*}, S^*) .

$$|\lambda| < 1 \iff k_1 k_2 \phi'(S^*) \tau < 2 \frac{S^*}{k_2}$$

$$\tag{25}$$

$$\iff k_1 k_2^2 \phi'(S^*) S^* \tau < 2S^{*2} = 2k_1 k_2^2 \phi(S^*) \tau$$
(26)

$$\iff \phi'(S^*)S^* < 2\phi(S^*) \tag{27}$$

The last inequality is ensured by Lemma (3)

Proof of Corollary 4.

Proof. By checking $\frac{dT^{C*}}{dk_1} > 0$ and $\frac{dS^*}{dk_2} > 0$, the corollary follows.

References

- [1] Bill Heil and Mikolaj Piskorski. New twitter re-Men follow search: men and nobody tweets. In http://blogs.harvardbusiness.org/cs/2009/06/new_twitter_research_men_follo.html, 2008.
- [2] Ariel Rubinstein. Equilibrium in supergames with the overtaking criterion. Journal of Economic Theory, 21:1–9, 1979.
- [3] Drew Fudenberg and Eric Maskin. The folk theorem in repeated games with discounting or with incomplete information. *Econometrica*, 50:533–554, 1986.
- [4] Michihiro Kandori. Social norms and community enforcement. Review of Economic Studies, 59:63–80, 1992.
- [5] J Andreoni. Giving with impure altruism: Applications to charity and ricardian equivalence. *Journal of Political Economy*, 97:1447–1458, 1989.
- [6] Jeffrey A. Robert, Il-Horn Hann, and Sandra A. Slaughter. Understanding the motivations, participation and performance of open source software developers: a longitudinal study of the apache projects. *Management Science*, 52:984–999, 2006.
- [7] S.K. Shah. Motivation, governance and the viability of hybrid forms in open source software development. *Management Science*, 52:1000–1014, 2006.
- [8] g.-W. Bock, R.W. Zmud, Y.-G. Kim, and J.-N. Lee. Behavioral intention formation in knowledge sharing: Examing the roles of extrinsic motivators, social-psychological forces, and organizational climate. *MIS Quarterly*, 29:87–111, 2005.
- [9] L.B. Jeppesen and L. Frederiksen. Why do users contribute to firm-hosted user communities? the case of computer-controlled music instruments. Organization Science, 17:45–63, 2006.
- [10] M. Wasko and S. Faraj. Why should i share? examining knowledge contribution in electronic networks of practice. *MIS Quarterly*, 29:1–23, 2005.
- [11] Josh Lerner, Parag A. Pathak, and Jean Tirole. The dynamics of open-source contributors. American Economic Review, 96:114–118, 2006.
- [12] C. Buragohain, D. Agrawal, and S. Suri. A game-theoretic framework for incentives in p2p systems. In Proceedings of the International Conference on Peer-to-Peer Computing, pages 48–56, 2003.
- [13] P. Golle, L. Leyton-Brown, I. Mirnov, and M. Lillibridge. Incentives for sharing in peerto-peer networks. In *Proceedings of the 3rd ACM Conference on Electronic Commerce* [online], 2001.

- [14] Michal Feldman, Christos Papadimitrioou, John Chuang, and Stoica Ion. Free-riding and whitewashing in peer-to-peer systems. *IEEE Journal on Selected Areas in Communications*, 24:1010–1019, 2006.
- [15] Dongyoung Sohn and John D. Leckenby. A structural solution to communication dilemmas in a virtual community. *Journal of Communication*, 57:435–449, 2007.
- [16] A. Bernardo Huberman, Daniel M Romero, and Fang Wu. Crowdsourcing, attention and productivity. In working paper, http://ssrn.com/abstract=1266996, 2008.
- [17] Lei Guo, Enhua Tan, Songqing Chen, Xiaodong Zhang, and Zhang Yihong. Analyzing patterns of user content generation in online social networks. In Proceedings of the 15th ACM SIGKDD international conference on Knowledge discovery and data mining, pages 369–378, 2009.
- [18] Zsolt Katona and Miklos Sarvary. Network formation and the structure of the commercial world wide web. *Marketing Science*, 27:764–778, 2008.